space.
ronik

USER MANUAL

ERGONOMIC
ok on ame sorngs oty by OFFICE CHAIR

trained specialist personnel.

('SPC-SPRINGLE-44 )

ACHTUNG!

Arbeiten an Gasfedern nur durch
eingewiesenes Fachpersonal.

UWAGA!
Prace przy kolumnach gazowych
mogg wykonywaé wytgcznie
przeszkoleni specjalisci.

spacetronik.store

SPACETRONIK SP. Z 0.0.
WISNIOWA 36

64-000 KOSCIAN, POLAND
INFO@SPACETRONIK.STORE
SPACETRONIK.STORE



User Manual

Parts List

(Please refer to the actual size. Each type of screw and washer has one reserved as a spare.)

Key Description Part Qty. Spare
A Wheel 5
B Chair leg tube LS 5
C Base % 1
D Twrench &E 1
E Chair leg screw (M6X12) §§§§§ & 10 1
F M6 dual-stacked (elolalolo] 10 1
self-locking washer 00000 ©
G Decorative cover 1
H Gas lift 1
Seat cyshion and 1
mechanism assembly
J Backrest 1
K Seat back screw (M8x16) g E E g 3 1
L Armrest F F 1 pair
M Armrest screw (M6x25) E E E E E 4 1
N Mé spring washer ecee @ 4 1

# & | Assembly Instructions
X Y

Use 10 M6X12 chair leg screws (E) and 10 Mé double-stacked self-locking washers (F) to
connect the five chair leg tubes (B) to the base (C), and then insert the wheels (A).

H)

5 Sl
oy

Install the decorative cover (G) and insert the gas lift (H) into the middle hole of the chair
base.

Insert the backrest (J) into the backplate of the mechanism (I).




Insert the armrests (L) into the armrest brackets, and then connect the armrests to the
armrest brackets using 4 M6x25 screws (M) and Mé spring washers (N).

gb‘ Operation Instructions

Adjustable backrest angle by
using the adjustment knob. ~ ----------
st level: Forward tilt for focused
office sitting posture.

2nd level: Normal office

sitting posture.

3rd level: Relaxed sitting posture.

The dual-wing adjustablelumbar
cushioncanautomatically adapt to -},
wraparoundthe waist andcan be
infinitelyadjustedbased on body
posture.

Pulling this handle can control
thesliding of the seat cushion --—---- (
forwardand backward.

The rotating handle can adjust
thetension when reclining the

backrest.

The integrated backrest and
shoulder pillow can be adjusted
in four different height levels.

The armrestsare
adjustableinheight and angle,
both inwardand outward.The
PU surface canrotate and be
adjustedforward/backward.It
can alsorotate upward by 35
degrees.

_ The rotating knob can adjust

therecline angle of the
backrest.

Pulling this handle can adjust
theseat cushion height.

The cantilevered cushioning
mechanism allows for adaptive
vertical adjustment.

Align the mechanism with the gas lift and insert it. The chair assembly is now complete.

[y

Safety Installation

open flames or sources of heat.

1. Each chair is designed to support the weight of one person only.
2. Please use the chair on a flat, even surface.

3. Do not allow children under the age of 5 to sit on the chair without supervision.

4. Avoid sitting on the armrest to prevent potential accidents.

5. Do not stand on the chair, use it as a ladder, or step on it.

6. Please refrain from placing excessive weight on the chair or using it as a makeshift trolley.
7. Avoid using sharp or pointed objects that could damage the chair, and keep it away from

8. For your safety, do not attempt to disassemble the gas lift mechanism.




Instrukcja

Lista czesci

Symbol Opis Part ilos¢ Zapas
A Kétko d 5
B Ostona nogi krzesta LS 5
C Baza % 1
D Klucz imbusowy &)E 1
E (M6X12) §§§§§ & 10 1
. M6 00000 10 ]
0000 ©
G Ostona dekoracyjna % 1
H Podnosnik gazowy (T 1
Siedzisko 1
J Oparcie 1
K (M8x16) 288 B 3 1
L Podtokietnik F F 1 para
: — iy«
N Mé geee @ 4 1

‘;\" Montaz

Uzyj 10 $rub Méx12 do ndg krzesta (E) oraz 10 podwdjnych podktadek Mé (F), aby potaczyc
pie¢ nogi (B) z podstawa (C), a nastepnie zamontuj kétka (A).

Zainstaluj ostone dekoracyjna (G) i wtéz podnosnik gazowy (H) do srodkowego otworu
w podstawie krzesta.

W16z oparcie (J) do mechanizmu (1).




Uzyj 3 srub M8x16 (K), aby potaczyc¢ oparcie (J) z oparciem.

W16z podtokietniki (L) do wspornikéw podtokietnikdw, a nastepnie przymocuj podtokietniki
do wspornikéw za pomocag 4 $rub Méx25 (M) i sprezynowych podktadek M6 (N).

80 ‘ Instrukcje obstugi

Regulacja kat i
pzaf;g:a qta oparcla za pomoca Zintegrowane oparcie i poduszka na

ramiona:
Mozliwos¢ regulacji wysokosci w
czterech poziomach.

Poziom 1: Pochylenie do przodu dla
skupionej pozycji siedzgcej w pracy.
Poziom 2: Standardowa,
ergonomiczna pozycja biurowa.
Poziom 3: Pochylenie do tytu dla
zrelaksowanej pozycji siedzacej.

Regulowane podtokietniki:
Mozliwos¢ regulacji wysokosci, kata
nachylenia (do wewnatrz i na
zewnatrz) oraz pozycji w przéd/tyt.
Powierzchnia podtokietnikéw moze
obracac sie w gore o 35 stopni.

Regulowane podparcie ledzwiowe z
podwaéjnymi skrzydtami:
Automatycznie dopasowuje sie do
talii, umozliwiajac precyzyjng
regulacje zgodnie z postawa
uzytkownika.

Obrotowy uchwyt do regulacji kata
podparcia ledzwiowego:
Pozwala na dowolne ustawienie dla
optymalnego komfortu.

Regulacja kata odchylenia oparcia:
Pokretto pozwala na precyzyjne
ustawienie kata nachylenia oparcia.

Regulacja siedziska:

Pociggniecie uchwytu umozliwia
przesuwanie siedziskado - f
przodu i do tytu.

Regulacja wysokosci siedziska:
Pociggniecie uchwytu umozliwia
zmiang wysokosci siedziska.

Regulacja napigcia podczas
odchylania oparcia:

Pokretto pozwala dostosowac
site oporu w czasie odchylania.

Adaptacyjna regulacja pionowa:
Mechanizm sprezynowy pozwala na
automatyczne dostosowanie
amortyzacji do pozycji uzytkownika.

Ustaw mechanizm w jednej linii z podnosnikiem gazowym i zamocuj go.
Montaz krzesta jest teraz zakonczony.

Instrukcja bezpieczenstwa

Krzesto jest przeznaczone do uzytku przez jedng osobe.

Uzywaj krzesta wytgcznie na ptaskiej i stabilnej powierzchni.

Dzieci ponizej 5. roku zycia moga korzystac z krzesta wytgcznie pod nadzorem dorostych.
Nie siadaj na podtokietnikach, aby unikna¢ ryzyka wypadku.

Nie stawaj na krzesle ani nie uzywaj go jako drabiny czy stopnia.

Nie obcigzaj krzesta nadmiernym ciezarem ani nie uzywaj go jako wozka.

Unikaj kontaktu krzesta z ostrymi przedmiotami oraz trzymaj je z dala

od otwartego ognia i zrédet ciepta.

8. Dla wiasnego bezpieczenstwa nie demontuj mechanizmu podnosnika gazowego.

Nookhwn =




